1. e _— MATHEMATICS
3, Polynomial® Mmslnrw;\,‘mh‘ (PAPER - 1)

Fime : 2,45 llrM

Inatructions :
| : estion .
Answer all the qu - ts0f 4 sections anq 33

s in a separate ansye, booklet

2. The question paper €O section - IV questions. .
3. There is an internal tilhm‘felm ibly. :
4. Write answers neatly and 18/ i
ECTION - 1
tions.
Note: i) Answer all the ques
5 e 1
i) Each question carries Y2 mark, 12x1: =6
. The prime factorization 9672938 -~——......
w
. The expanded form of log 125 %
. Set theory was developed BY «--eoo...
. Degree of a quadratic polynomial is ...
_ (i) Null set is a finite set (if) Universal set s infinite set.
Then which of the following is correct ? ( )
A) Both (i),(ii) are true B) Both (i) and (ii) are false
C) (i) is true, (ii) is false - D) (i) is false, (ii) is true
. A quadratic polynomial whose sum and product of zeroes are -3 and 2 respectively
is T ( )
A)x%+3x +2 B)x? -3x +2 C)x*-3x-2 D) x*>+2x+3
. The solution of the pair of linear equations a;x + b;y +c;, = 0 and
ax + b,y +c, = 0 by cross multiplication method is given by ......cccoecceces ( )
) X:M, 31929 . « 2RISR L SoCyetit
ajby-azb; ajby_asby ajby_a,by ajb,_ab;
Wl s - L5 . S L i L4
ajby_azby ~ ajby_azby’ atbp_agby "7 ajby_apby’
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10.
S
12

rural number then only gne of pn 4+ B0* .
< polynomial is

If nisany & ;
Al = )3 o biquadsatic
What can be the degree of the remainder atmost i

divided by guadratic polynomial ? % ;

What is the Ing]e between the lineg n‘PI\!ll‘ﬂted by
Find the HCF of 280 and 674

Wite the nymbﬁl of subset

Answer all the questions, §x1=8M

pare: S8 tion carries 1 i
DL ytin cerries onarte. R =10,
i) pen g here a =132, b =10.

T TR bq-bl"”

13.
14.
15.
16.
1v:
18.
19.
20.

Note: 1) Answerall the questions.

Write two positive integers q and r such thata =

ee ? Justify.
Ravi said, “HCF (b, ) -LCM (a, b, ¢) = a x bX ¢ 1l

Find the value of logg;3.
Write two examples of empty set.

If A= {a, b, ¢, d} and B= {b, ¢} then find A ~ B and wha

What is the cardinal number of the set A = (XXX }:
aﬂables.

pair of linear equations in two

t do you observe?

Write the general form of a linear equation in two V
Give an example each of dependent and independent

variables.

SECTION - 11l

8x2=16 M

ii) Each question carries 2 marks,

2
20
28,
24.
"25,

26.

27

If HCF of 60 and x is 12, then find the value of X.
Check whether 6™ can end with the digit ‘0’ for any natural number n.

Prove thatlog,xy = log,x +log.y .
Write 4 sets of your choice, involving geomel:rical ideas. '

Write any two sets for the Venn-diagram. B U

Ramsaid, " {x:x+5=5)"is an empty set. Shyamsaid," { x:x +5=5} is not an empty

set. But both are true. How ?
Check whether x> - 3x + 1 is a factor of x7 - 4x3 + x2% 3x + 1 or not ?

For what values of k, the system of linear equations x - 2y =3and3x+ky=1hasa

unique solution.
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Note:

i) Answer all the guestions,

ii) Each question carries 4 marks,
i) There is and internal choice for each guestion, 5x%4=20M

29. A)

B)

30. A)

B)

Ghow that one and only ON€outof n, n + 2 or n + 4 is divisible by 3, where n is
positive integer.

1

(OR)

f t2]
If x2+y? = 25xy, show that 2log(x + y) . 3 log3 + logx + logy.

Find the HCF of 65 and 117.and express it in the form of 65x + 117y.

(OR)

State the reasons for the following.

) 11,2,3,4,5 6] (x: xEW, 1<x<§)

i) (1,3,5,7,9, 11 ...} # (X:X=2n+1,neN)

1A

iii), {multiples of 5} is a finite set

iv) #{0}. .



31. A)

B)

2 A

B)

33. A)

B)

d) Can you

wdulnmmh of Al - {&’ A |“' b, C', A o 13, br c,

2™ {a, b) A,y
relation betyw,.. the numlu r
observe any N the Number of elements of a set and

of all subsets of it? If What jg j; 5

(OR)

it A = (Teiangles. b - Equilateral triangles), © = {1sosceles triangles|
D= |Rl§|\f ngles |, E~ | Right jsosceles triangles ), then find AV B, BN C,
BuC, Cn D, write your bservations and explnlﬂ

If the zeroes of the cubjc Polynomial ¢

PO =x>-3x*+x +Tare, _ ~d, a,a +d find the zeroes.

(OR)
Usmg division algorithm, fmd the quotient.and remainder on dividing
(x)-x -5x +6 by g(x) = s ¢
Draw the graph of the POI}’nomjal P =x- 7,‘(-; 12, then find its zeroes from
the graph.
’ (OR)

Solve the equations graphically 3x + 4y'=10 and 4x - 3y = 5,



MATHEMATICS

l (PAPER - Il )

Time : 2.45 Hrs. —

e — — P Marks : 50

Instructions : e e ettt et
estions.

1. Answer all the g4
2. The queﬂﬁon P“Pc
3. There jsan interna
4. Write answers neatly a

ts of 4 sections 4

¢ consis d 3

| choice in gecton - IV,
nd legibly.

5E_C_T_IQM

i) Answer all the questions.

i) E estion carries Y2 mark,
ii) Each qu Bk

3 questions,

Note:

1. Hfthe points (xy) and (2. 3) li€ on the line paratie) 16y _ axis then corveseoosicecs
2. IfA (5-1) B -3-2) and C(-18) are the Vertices of a AABC, then the length of the

median through A R ... ..
AD_2 AE
3 In AABC,DE | BCand o~ 5 then ==

4. Inthe given figure, if AB ||CD || EF
AB=75cm,DC=y cm, EF=45cm,
BC = x cm, then the value of x is

75 em

B
b

5. Which of the following point lies on the Y-axis ?
A) (% y) Bk - 900 - DOX

6. y=2canbe represented o R

A)-H-* B - BEER C)T%D)%

7. Ina right triangle, the mid point of the hypotenuse ) e crverterre
B) incentre

A) circumcentre
C) centre of gravity

Mathematics : Class - 10 (A.P) 1 )

D) orthocentre
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. if AB? + BC? = AC2 thap, the right angle
8 In AABC, I

9. What is area of the triangle formeq by the points (O/

t'l“')AorC

A A B) B oc 00 and (0.4)7?

L,=1,thenfj ”
entroid [ 2 E 2 ] By

10, 1t bwo vertices of a triangle are (4, 2) 4 (4, 5) and 2

b8

12,

" third vertex of the triangle.

From the given figure , find DM?2,

D N

e
M 5

What s the area of a regular hexagon of side ‘a’ units?

SECTION - I

Note: i) Answerall the questions, ; % 8*x1=gMm

ii) Each question carries 1 yqp).

14.
15¢

16.

17
18.

19.

20.

. Where do the points (-4,0), (2,0 and (4.5,0) lie ?

Find the slope of the line p assing through (-2,8) and (-2 il 1 to the distance
Sridhar calculated the distance between T(5,2)and R (-4,-1) is equa

between P(4,1) and Q (-5,-2). What do you observe? )

The coordinates of one end point of 4 djameter of a circle is (4,-1) and the centre i
(1,-3). Find the other end of the diameter.

Write two different examples of pair of similar figures.

A pole 3m tall casts 4.5 m shadow. At the same instance, a tower casts a shadow of
2Im. Find the height of the tower.

If AABC - ADEF such that AB = 1.5 cm, DE = 4.5 cm then find the ratio of areas of
AABC and ADEF.

In AABC, DE | |BCand AE =18 cm, EC=54cm,BD=7.2cm. Find AD.

SECTION - 11l

Note: i) Answerall the questions.

i) Each question carries 2 marks. 8X2=16M

21

Show that A(6,4), B(5,-2)and C(7,-2) are the vertices of an isosceles triangle.

Mathematics : Class - 10 (A.P) @ Summative Assessment



22.

24,

25.

26.

27.

28.

does the Y-axis diviqe the 14

In what ratio he |
Segment joining the point P(-4,5) and
i b+c) (b, ot
Prove that the points (& ang e

: 8+ b) are coll
o id of a triangle ., inear.
If (-1, 2) is the centro hose two Vertices are (3,4) and (2,-3) then find

' jangle.
the third vertex of ﬂ1€ triangie

AD=8x+g9g
In AABG, DE | ]BCand 'CD:X*3,BE=3,(+4 e B

State and prove AAA simi g ol tiang|og

B L ar trian IES 3
If the areas of tho simil 81e5 are €qual, thep prove that "The triangles are

congruent."
ABD is a triangle, right angled at A ang AC 1 pp. Thetlshe it Ao
' SECTION . )y
2ELLION -y

Note: i) Answer all the questions.

29.

ii) Each question carries 4 mnarks.

iii) There is an internal choice for egc), question. 5x4=20M

A)  Show that the points (a,a) (-a,-3) and (- 3 a, /3 @) are the vertices of an equilateral

triangle. Alsg find its area.
(OR)

B)  Find the coordinates of the points of trisection of the line segment joining (4,-1)

and (-2,-3).

30. A) Findithe area of the triangle formed by joining the mid - points of the sides of

triangle whose vertices are (0,-1), (2, 1) and (0, 3). Find the ratio of this area to

the given triangle

~ (OR)
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31

33.

B)
A)
i)

ii)

i)

iv)

B)

. A)

B)

A)

B)

P ¢hat the points (3,0),(q 5),(- form a rhombus,

Also find its area.

Let A (‘, 2), B (6: 5) and C (], ‘) b(‘ the vertices of ﬂAx
tes of the point D.

L4) and (-2-1) taken in order,

jan from A meets Be

Themed WD, Fing he coording

Find the c0Ordinates of the poiny p 1y cuch that AP (PD =21
Find the coordinates of the pojp g Q and R on medians BE and CF respectively
suchm‘[BQ:QE-zzlal'ndCR.,RF_z_]

What do you-observe 7

(OR) | th

, : 5
Write the algorithm to construct 3 yrian gle ABC with its sides equal to 3 of the

corresponding sides of the triangjo ABC. Justify your algorithm.
Prove that "The areas of two simjjar triangles are in the ratio of the squares of

the corresponding altitudes."

(OR)

“ In what ratio, does the point (-4, 6) divide the line segment joining the points

A (-6,10) and B (3, -8) ?
Construd a triangle PQR, where QR = 5.5 cm, ZQ = 65" and PQ = 6 cm. Then

draw another triangle, whose sides are -Z‘ times of the corresponding; sides of
APQR.

(OR)
Construct a triangle PQR, in which PQ = 4 cm, QR = 6 cm, and ZPQR = 70°.
Constructa triangle such that each side of the new triangle is %of the triangle

PQR.
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